Bonding Unit Review
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1. Whatis a covalent bond? What is an ionic bond?
- covdlent hord involves 1he char of efectoons
—conic bonrd [nvolves the Franster o @/fc;(n:m

2. Why do atoms bond together to form molecules?
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3. Define electronegativity.
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4. What are the three types of intramo!eiilar bonds? How do they differ?
jonic = couf/esz Fraas electrors
Po/ar covelent = MHG{M ;r"a/’rrj o elechrons
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5. Identify the kind of intramolecular bonding contained in each of the following:

HI, F,, MgO, 0,, AsH;, PCl;
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6. What are the three types of intermolecular bonding from strongest to weakest.

h Jﬂlragw /aoM{//g , o(ipa/c -al:}w/c véfcer, plf&/afw" ﬁrwr

7. ldentify the kind of intermolecular bonding in each:

HI, Fa, MgO, 0, AsHs, PCls, H;Oo’
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8. Whatis a double bond?

S;MNAJ ov[ LIl c/(’pfmt}

9. How does the distance between atoms change if a single, double or triple bond is present?
What bonds are the strongest?
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10. What is the general trend in electronegativity as you go from left to right across the periods and

bottom to top of the periodic table. ,
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By looking only at the periodic table, arrange the following sets in order of increasing
electronegativity:
a) O,PS b) Mg, Al, Si, c)C Si,N
P;S/O /Myl’}/‘Si ‘S")C)N
Arrange the bonds in each of the following sets in order of increasing polarity:
a) H--F, O—F, B---F b) N---N, N---P, N---O
O--Fl H"F, B..F NN N0, NP
Draw the Lewis dot diagram for selenium with the correct number of valence electrons.
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How many electrons must sulfur gain in order to get a stable octet?
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Draw Lewis diagrams for each of the following. @\) I /AR “‘C'_ C.
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c) HySO4 0z '/O ——S(‘ 0 ~H ..
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Draw the resonance structures for {) e e o <Cls .. \
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What would be the shape of a moIecuIe of
a) €O, [linear
b) HS  beat

c) NH; “h-}aw\ap P»drmiola,(

Would a molecule of CH, Br be polar or nonpolar? What about the polarity of the molecules in
#17? Po ar

0) non-polar (b polc«r (0 gwlmr

Explain why water would haveahl he boili t than H,S.
p y g r boiling point than 2 o-\cl& ;‘}'vond(,r%ﬁ-ﬂ‘”’w

\ ‘{’/Mt[ (M l,\wuk{ ls\r\
d’:‘wle t ﬂ%rm i H ¢ A KO moledu-\—ahu&wre Unargn fo ufa,mic

Which would have the shorter bond Iength Hand SinH,Sor Cand N in HCN?
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